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QUESTION 1

If an application has 10 fields, and a data import file contains values for 12 fields, what will happen with the remaining 2
columns of data when a Data Import is performed?

A. The data in the two extra fields are merged into a single field in Archer.

B. The remaining two columns of data are ignored and not imported into Archer.

C. New fields will automatically be created to accommodate the two remaining columns of data.
D. The extra data will be imported into a text file that can later be attached to records in Archer.

Correct Answer: B

QUESTION 2

Which of the following CAN NOT be changed from the search results page?
A. Column display order

B. Sort order of the records

C. The number of records displayed per page

D. Field values from the records displayed in the search results

Correct Answer: D

QUESTION 3

What happens when you select the Round Robin option for a workflow stage?

A. A record is randomly assigned to qualified users.

B. A record is assigned to the user with the smallest workflow queue.

C. Arecord is assigned to the user with the most expertise on that topic.

D. A record is assigned to the user with the highest level of access for that application.

Correct Answer: A

QUESTION 4
Which of the following is NOT a required attribute for a user account?

A. User Name
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B. Access Role
C. First and Last Name
D. Notification Subscriptions

Correct Answer: D

QUESTION 5

Which of the following statement is NOT true about solutions?

A. Solutions are groups of related applications.

B. A single application can be grouped into multiple solutions.

C. Deleting a solution also deletes the applications related to that solution.

D. A solution can be exported from an RSA Archer environment as part of a package.

Correct Answer: C
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